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QUESTION 1

Which feature is required to prevent a split-brain condition for a branch in an Enhanced HA
A. Split Brain Detection

B. SD-WAN Service Reachable on the private overlay

C. Cloud VPN

D. VRRP

Correct Answer: B

QUESTION 2

Which statement describes a characteristic of VMware SU-WAN Edge (VCL) clustering?
A. One VCE cluster can be formed with both virtual and hardware at the same lime

B. A VCE cluster requires one dedicated interface for HA sync

C. VCF clusters member sync flow tables between themselves.

D. VCE cluster members should have unique IP addresses on its WAN interfaces

Correct Answer: C

QUESTION 3

Which deployment model ensures that management and control plane is cloud-delivered while data continues to flow on-
premises between VMware SD-WAN nodes that remain on-premises?

A. Hosted SD-WAN Orchestrator/Controller

B. On-premises SD-WAN Orchestrator/Controller
C. Partially on-premises

D. All on-premises

Correct Answer: D

QUESTION 4
A service provider needs to ensure that the NOC is notified proactively in the event that an Edge interface

loses connectivity to its WAN provider.
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Which three methods are available for generating these alerts? (Choose three.)
A. Slack notification

B. Text/SMS

C. Push notification via the VMware SD WAN mobile app

D. SNMP Trap

E. Webhook

F. Dyinqg Gasp

Correct Answer: BCF

QUESTION 5

A service provider assigns two Partner Gateways to a VMware SD-WAN Edge. Which description is correct about
default route.

A. A default route 0.0.0.0/0 can be configured as a static route and set to NAT only on the Gateway

B. It default route 0 0 0.010 has been configured for both Gateways, internet traffic originated from the Edge can failover
to the other Gateway in case of a Gateway failure.

C. When handoff is turned off on a Partner Gateway, the Gateway does not advertise a default route 0.0 0.0/0 to the
Edge.

D. The service provider administrator decides whether the Partner Gateway advertises a default route 0.0.0.0/0 or not,
although it is advertised by default.

Correct Answer: A
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